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1.2 Function Notation

1. For f(x) = { (–5, 1), (–3, 2) (–1, 3), (1, 2) }, determine:    a) f(–3) 

b) f(1)



2. For f(x) defined below, determine:   a) f(1)


b) f(3)
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   {y ∈ | 2 ≤ y ≤ 7}
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3. For f(x) defined below, determine:   a) f(3)


b) f(8)

[image: image6.emf]


   {x ∈ |1≤ x ≤ 5}
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   {y ∈ | 0 ≤ y ≤ 4}
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4. For f(x) defined below, determine:   a) f(2)


b) f(5)
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   {y ∈}
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5. For f(x) = 4x – 5, determine:   a) f(1)


b) f(–2)

6. Consider the function h(n) = 3n2 + 4n – 8. Determine
a) h(0)



b) h(1)



c) h(–2)



d) h(1) – h(0)
   

e) h(2a)



f) h(a+1) – h(a) 
7. For g(x) = 6 – 4x, determine values of x for which a) g(x) = 2

b) g(x) = 14
1.4 Domain and Range of a Function

8. For f(x) = { (–5, 1), (–3, 2) (–1, 3), (1, 2) }, determine the domain and range.

9. For f(x) defined below, determine the domain and range.
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   {n ∈}
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10. For f(x) defined below, determine the domain and range.
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   {h(n)∈ | h(n) ≤ 8}
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11. For f(x) defined below, determine the domain and range.


[image: image4]
12. For f(x) = 4x – 5, determine the domain and range.

13. Consider the function h(n) = – 3(n – 5)2 + 8. Determine the domain and range.
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Solutions 


1. a)   2   b)  2    2. a)  0   b)  2    3. a)  4   b)  5    4. a)  3  b)  0   5. a)  –1    b)  –13


6. a) –8   b)  –1   c)  –4    d)  7    e)  12a2 + 8a – 8    f)  6a + 7    7. a)    1    b)  –2


8. D: { –5, –3, –1, 1}  R: {1, 2, 3}     9. D: { –1, 1, 3, 5}   R: { –3, 0, 2}    


10. D: { 2, 3, 4, 5, 6, 8, 9, 10}   R: { 2, 3, 4, 5, 6, 7} or R:� EMBED Equation.3  ���


11. D:  � EMBED Equation.3  ��� R: � EMBED Equation.3  ���    


12. D:  � EMBED Equation.3  ��� R: � EMBED Equation.3  ���    13. D:  � EMBED Equation.3  ���    R: � EMBED Equation.3  ���           
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